—\"‘ N\ =
38 BREMREMGAEEKROZE (o)) —X—X)
WEFRNA04E B SRR 264
73% 39%
tRh e 2459kcal / A - WAt #vE 2415keal / A - H
MR EERS [%] [FEPEMLAS B 1799keal / A - ] PR EERS (%] [FEPEMLASREVE 947keal / A - H]
100
100
. 298kcal Z0ft: 284kcal
ZDfh 68% [204kcal] 25% [ 71kcall
90 -
90 —1—
BE 86% \ 39kcal [34kcall RX 7% | 6lkcal [22kcall
x5 41% 55kcal [23kcal] 7lkcal [20kcall
HE  100% T4kcal [74kcall 50 HE 76% 73kcal [56kcall
80~ BAE 110% ‘99kcal [108kcal] BN 67% [lggiﬁih
s 196kcal FOYEEE 195kcal
ByEsE 31% s ca
Y [ 60kcall 70 3% [ 60kcal]
70 + i AR5
. | 20%eal ~
hE 28% [ 8lkcal] 331keal
60— | ME 13% ca
60 —— [ 43kcall
SRS 33% [fglﬁﬁih
50—
50 — 157kcal
BEY 41% 45% e 4 o 357kcal
/6235 [ 74kcal] IS 3 % Clihea
40 - 0
AR & 5
HEPEE S
#% 401kcal
30 +— 30 —+— o 47% [ 68kcal]
%
v i 1,090kcal
* 100% [1.090kcal]
20 -+ 20 T
HAGE5 539kcal
X 98%
0 0
0 20 40 60 80 100 0 20 40 60 80 100
BN RAEEGE (%] BN REEGE (%]

XTI ROBBRTE

BERE 1 P RR264E Bk B

AFENRD—HLIBWEENH D,

ARED<DHENE QT4 8 HREMKER)





